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% gl SefA = X|RHEX| et&LICH
odl:

class-map match-any realtime
class-map match-any priority
class-map match-any missioncritical
class-map match-any transactional
class-map match-any scavenger

e

policy-map Edge-QoS
class realtime

class priority

class missioncritical
class transactional
class scavenger

class class-default

3850 (config-pmap-c) #interface Gi 1/0/1

3850 (config-if) #service-policy input Edge-QoS
3850 (config-if) #

*Mar 11 09:12:59.897: Empty class unsupported
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% Range H& 0| GigabitEthernet1/0/10{lA Al1{5lo{ S 2 EII&LICE
odl:

int range Gil/0/1 - 24
service-policy input gqueueing
% Range command terminated because it failed on GigabitEthernetl/0/1
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odl:

access-1list 150 permit ip 172.16.2.0 0.0.0.255 172.16.1.0 0.0.0.255

class-map match-any SAN_TRAFFIC
match access-group 150

!

policy-map SAN_POLICY

class SAN_TRAFFIC

bandwidth remaining ratio 10
class class-default

shape average percent 10

M2 R HAIX|2 S
SHE Y

- DSCP/CoS/IPP/QoS & EAIE ACLI} YR|st= QoA ECHEo = dEstH YU EHME
Gt £

- AU O HM £ 7|52 AASELICH

access-1list 150 permit ip 172.16.2.0 0.0.0.255 172.16.1.0 0.0.0.255

class-map match-any SAN_TRAFFIC
match access-group 150

!

policy-map SAN_POLICY_INPUT
class SAN_TRAFFIC

set gos-group 1

!

class-map match-any QOS-GROUP1
match gos-group 1

!

policy-map SAN_POLICY

class QOS-GROUP1

bandwidth remaining ratio 10
class class-default

shape average percent 10

% queue-limit2 O| &ZHZF oM %(HME)RH X|HE LICEH
od:



class-map queue
queue-limit cos 1 2 3 4
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class-map queueb

gueue-1limit cos 1 percent 10
gueue-1limit cos 2 percent 20
queue-limit cos 3 percent 30
gqueue-1limit cos 4 percent 40

A olF Yo oA =M7t dxIE HMu Lx|etx| ef&LCt.

ol

ICreating class-maps queuel and queue2
class-map queuel

match cos 5

match dscp 46

class-map queue2
match cos 2 4 3 6
match dscp 16 18 20 22 26 32 34 36

!Assigning queueing features to queuel and queue2
policy-map queueing

class queuel

shape average percent 70

class queue2
bandwidth remaining percent 10

!Applying the policy-map queueing to interface Gil/0/1
interface gil/0/1
service policy output queueing

ICreating class-maps queue5 and queueb6
class-map queueb

match cos 1

match dscp 8 10 12 14

class-map queueb
match cos 5
match dscp 46

!Assigning queueing features to queue5 and queueé6
policy-map queueing2

class queueb

shape average percent 70

class queue2
bandwidth remaining percent 10

!Applying the policy-map queueing to interface Gil/0/2



interface gil/0/2
service policy output queueing?2
% Order of classes in policy name queueing2 is not consistent with installed policy
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% stLte| A 5HLt2] queue-limit & S{EFLICH
odl:

policy-map port-queue
class dscp-1-2-3
bandwidth percent 20
queue-limit dscp 1 percent 80
queue-limit dscp 2 percent 90
queue-limit cos 3 percent 100 <<<
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odl:

class-map gqueueb
match cos 1
match dscp 8 10 12 14

class-map gqueueb
match cos 5
match dscp 46

policy-map queueing?2
class queueb
shape average percent 70

class gueue2
bandwidth remaining percent 10

interface gil/0/1
service policy input queueing?2
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3850 (config-if) #auto gos voip trust
% Cannot be deleted. Tablemap being used in policy maps.
AutoQoS Error while generating commands on Gil/0/3.

sh run
-- Output ommited

policy-map WAN-QoS

class class-default
shape average percent 20
service-policy VoIP-QoS
-- Output ommited

interface GigabitEthernetl/0/1
service-policy out WAN-QoS <- Queueing-based policy already attach to other interface in the
same stream
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policy map bw-with-table
class class-default
bandwidth percent 10
set cos dscp table default
set dscp dscp table default
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int gig2/0/1
service-policy output bw-with-table
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policy-map priority-rate
class priority-one
priority level 1
police cir 256000 conform-action transmit exceed-action set-dscp-transmit dscp table test
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Policy-map my-policy
class voip_signal
set dscp cs2
police cir 32000 bc 8000
conform-action transmit
exceed-action set-dscp-transmit cs3
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table-map CS2toCS3
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map from 24 to 16
default copy

policy-map my-policy
class voip_signal
set dscp cs2
police cir 32000 bc 8000
conform-action transmit
exceed-action set-dscp-transmit default dscp table CS2toCS3
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policy-map CiscoPhone-Input-Policy
Class Voip-Data-Class
set ip dscp ef
police cir 256000 bc 16000 be 16000
conform-action transmit
exceed-action set-dscp-transmit dscp table policed-dscp
violate-action drop
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policy-map CiscoPhone-Input-Policy
Class Voip-Data-Class
set ip dscp ef
police cir 256000 bc 16000 pir 512000 be 16000
conform-action transmit
exceed-action set-dscp-transmit dscp table policed-dscp
violate-action drop
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